Exam 3, March 8, 2014

Exam 3 i A

Linear Algebra, Dave Bayer, March 8, 2014

Name: SO 'U—\_)Q“ S Uni:
[1] (2] (3] [4] [5] Total

If you need more that one page for a problem, clearly indicate on each page where to look next for
your work.

[1] Find the determinant of the matrix
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[2] Find the inverse of the matrix
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[3] Find w/y where

[0110}[%}] [a]
1011||x| _|b
1101 |yl| ~ |e¢
2110 z d
ql 10
BOod 1]
¢ 181 =R
d110

(=) +1]
olado |
IObl :C‘\\‘
11 ¢ | 2
21430

Cramex's wlé
7
W= lgf/\/w{—(w

"= l%g%da’«)
:

@xpand
"eq-'mv:?(s

= w/1—.-:.




Exam 3, March 8, 2014

[4] Find A™ where A is the matrix

Your final answer should be in the form Na = C)'e‘{: = —'G
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[5] Find f(n), where f(n) is the determinant of the n x n matrix in the sequence

| 5

S o WUl
S WU o
W oo oo

N o Cc o
| ————— |

CE3
55 2, .
?’::Sf_,,’r -
X i ’:j:vl (n-2)x(h-2)
o
T £(n)
f0)) (0 | [0) "%—'T‘“_‘
)|~ |- 5 [ [F() \ % —_
2.1 11 = ats—a
5 [F(h) ] _ [_% '15] 5\] 3165 = 51165
. iy G 2.3 o
Sum 5; r’ma g 9 [ T d
o1 _ (3] +2° [ﬂ ]
[—6‘5] ’"2[6"}/, *® 20 A S

: 2) = 2. + 327
onedk:  F(?) _he e = es o



	2014_04_07_14_20_49
	2014_04_07_14_20_57
	2014_04_07_14_21_04
	2014_04_07_14_21_12
	2014_04_07_14_21_20

